Part #

00125-
00126-
00126ALB
00127-
00127ALB
00126A
00126B
00126C
00126D
00126E
00126F

00128-

00130A
00130BA
00130BB
00130BC
00130BD
00130BE
00130ALB
00130C
00130D
00130E

00140-
00140B
00140-3
00140-3B
00140-3BS
00142-2
00145-2
00147-2
00148B
00148S

Stuffing Boxes

2" 11 1/2 Single Pack Base Inverted #141
2 3/8" 8Rd Single Pack Base Inverted  #141
2 3/8" 8Rd Single Pack Base Inverted ALB
2 7/8" 8Rd Single Pack Base Inverted
2 7/8" 8Rd Single Pack Base Inverted ALB
Top for Inverted Stuffing Box
Seat for Inverted Stuffing Box

#144
#143

5/8-11 x 4" Plated Tap Bolt 2 Per Unit
5/8-11 Plated Square Nut 4 Per Unit
5/8 Plated Flat Washer 4 Per Unit
5/8 Plated Hex Nut 4 Per Unit

Small Stuffing Box

Double Packed Body # 148 @ M-Cast
Double Packed Base 2" 11 1/2 # 149 @ M-Cast
Double Packed Base 2 3/8" 8Rd # 149 @ M-Cast
Double Packed Base 2 7/8" 8Rd # 149 @ M-Cast
Double Packed Base 2 1/2" 11 1/2V

Double Packed Base 2 1/2" 8V

Double Packed Base ALB

Double Packed Comp. Ring #150 @ M-Cast

Double Packed Comp. Nut 2 per
Double Packed Comp. Bolt 2 per
Flange Bolts and Nuts 6 per
2 3/8 8Rd. Hercules Body T-Base

2 3/8 8Rd. Hercules Body ALB

2 7/8 8Rd. Hercules Body with 3" outlet

2 7/8 8Rd. Hercules Body ALB with 3" outlets
2 3/8 8Rd. Hercules Body ALB with 3" outlets
Upper Gland Body

Lower Gland

Cap

ALB Lower Follower

Steel Lower Follower




00126G
00126H
00126F
00126D
00126E
00126J

01500-
01500A
01501-
01501A
01502-

1 1/8 Rubbers
1 1/4 Rubbers
1 5/16 Rubbers
1 7/16 Rubbers
1 3/8 Rubbers
1 1/2 Rubbers

5/8-11 Bolts 8" Long 2 Per Unit
5/8-11 Bolts 6" Long 2 Per Unit
5/8-11 Hex Nuts 4 Per Unit
5/8-11 Square Nuts 4 Per Unit
5/8 Washers 4 Per Unit

3/8-16 x 2" Bolts, Nuts, Star Washers @ 9/16

2 1/2" Pumping Tee

2 1/2" Pumping Tee Bronze
2" Pumping Tee

2" Pumping Tee Bronze
Handwheel

21/4 X 1 1/8 Uppers
21/4 X 11/8 Lowers

21/4 X 1 1/4 Uppers
21/4 X 11/4 Lowers

2 1/4 X 1 5/16 Uppers
21/4 X 1 5/16 Lowers

2 1/4 X 1 3/8 Uppers
21/4 X 1 3/8 Lowers

2 1/4 X 1 7/16 uppers
21/4 X 17/16 Lowers

21/4 X 11/2 Uppers
21/4 X 11/2 Lowers

21/2 X1 1/8 Uppers
21/2 X1 1/8 Lowers

2 1/2 X 1 1/4 Uppers
21/2 X 1 1/4 Lowers



2 1/2 X 1 5/16 Uppers
21/2 X 15/16 Lowers

2 1/2 X 1 3/8 Uppers
2 1/2 X 1 3/8 Lowers

21/2 X 11/2 Uppers
21/2 X 11/2 Lowers



	Sheet1

